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1 次の極限値を求めよ．

(1) lim
x→−1

x+ 1

x2 + 4x+ 3

lim
x→−1
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= lim
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(x+ 1)(x+ 3)
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=
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=
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【1点】1
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√
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√
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√
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【1点】 1

2
√
2

2 導関数の定義にしたがって，関数 y =
√
x を微分せよ．

【1点】教科書 p.3 例題 1を参照

3 次の関数を微分せよ．

(1) y = 3x4 − 2x3 + 5x+ 3

【1点】y′ = 12x3 − 6x2 + 5

(2) y = (3− 2x)3

【1点】y′ = 3(3− 2x)3−1 × (−2) = −6(3− 2x)2

(3) y =
3− x

x+ 7

【1点】y′ =
−(x+ 7)− (3− x)

(x+ 7)2
= − 10

(x+ 7)2



 

(4) y =
2

x
− 1

x2

【1点】y′ = − 2

x2
+

2

x3

(5) y = (x2 + 2)
√
2x− 1

y′ =2x
√
2x− 1 + (x2 + 2)× 1

2
(2x− 1)−

1
2 × 2

=2x
√
2x− 1 +

x2 + 2√
2x− 1

=
5x2 − 2x+ 2√

2x− 1

【1点】

(6) y = x2 sinx

【1点】y′ = 2x sinx+ x2 cosx

4 (tan−1 x)′ =
1

x2 + 1
を用いて，

y = x2 tan−1(1− x)

を微分せよ．

y′ =2x tan−1(1− x) + x2 × 1

(1− x)2 + 1
× (−1)

=2x tan−1(1− x)− x2

x2 − 2x+ 2

【1点】


